
Grown Experience is multiplied by 4 for trees

Fertilizer 3 is Grown Experience divided by 2

Fertilizer 2 is Fertilizer 3 divided by 2

Fertilizer 1 is Fertilizer 2 divided by 2 unless Fertilizer 2 is two in which case Fertilizer 1 is 2

 

Tree Definition Data

Revision #2
Created 1 February 2025 01:58:52 by RTP Admin
Updated 1 February 2025 02:45:05 by RTP Admin

https://docs.returnofparadise.com/uploads/images/gallery/2025-02/MN9image.png
https://docs.returnofparadise.com/uploads/images/gallery/2025-02/2vXimage.png

